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OBl 2EoH ARED 510 &4
10,0002 *10% +6:2 =53] 3,000
307 BI2HOI 45,000 45,000 0
02 DIAHAEE 25,000 25,000 0
0ol 2eoH 2485 N 25,000,0002! 25,000
04 DI2teHAIE X 20,000 20,000 0
OFRINHIA 25| #AF X 20,000,008 20,000
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SAHIA SE(MIISX/FAAHEXH)
SAHIA X

_ _ _ N E
M- E - S(3) - HRAY - BY2 Arou Sl aton
DIMBRAMEA HE 28,000 28,000 0
201 ety 22,180 22,180 0
01 At el 19,640 19,640 0
Oger+gt| 17,140,00084 17,140
oeg+y 700,0002 700
Ozl 1,800,000% 1,800
02 2Z2H| 2,540 2,540 0
O% 2| 2,040,000% 2,040
OAl& ZHIRX bl 500,000 500
202 01H 4,320 4,320 0
01 2UH0iI 4,320 4,320 0
OMHIASH Y2 =& 4,320,00084 4,320
301 LetEaa 1,500 1,500 0
10 BAFAHIZ &S 1,500 1,500 0
OFCIAHIA BB BY L & U Z4
30,0002 +50% 1,500
YA FUHH SE(LNHBIHE/AHET) 324,040 325,560 A 1,520
= 16,380
= 307,660
xS 8o 324,040 325,560 A 1,520
= 16,380
= 307,660
BEAANY X 46,760 40,180 6,580
= 16,380
= 30,380
301 YptEAZ 11,760 5,880 5,880
= 5,880
T 5,880
02 He2YBAS 11,760 5,880 5,880
OZH 2 EAHY 11,760
—MOIZRNER HEFEZ N
11,760,000 11,760
= 5,880
= 5,880
402 QI2HRHE0IH 35,000 34,300 700
= 10,500
= 24,500
01 SIAREEBE 35,000 34,300 700
OZH 2 EAHY 35,000
—AFZOIE DHZEI ALY 700,0009+500H7 35,000
= 10,500
= 24,500
20 HEOIA Ba 15,000 15,000 0
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SN ZEOIME XA D
HH: RHUN FUHN RC(LUDTHE/LNHT)
ool FU XS ae (Sl #)
_ _ SIEN
K- Z3 . S2(3H) - MPAY - B Y= Ao il b o HRs2
307 2I2H0I 15,000 15,000 0
02 2ItBAE X 15,000 15,000 0
OMOEE1n dH 22 15,000,000& 15,000
AEH 2 A3t 262,280 270,380 28,100
202 O4Hl 2,160 2,160 0
01 =Wl 2,160 2,160 0
OMNBISHH 2B A2ET L HAX
2,160,000& 2,160
203 ¥R =& 1,000 1,000 0
03 AZFIHRFAH| 1,000 1,000 0
OAMBIEHHM 2teal Y Al =& 1,000,000& 1,000
301 LetEas 80,320 74,420 5,900
04 RSLHHASL] 30,000 30,000 0
OXESLHH oAl 30,000,000& 30,000
10 EALAHIE A= 50,320 44,420 5,900
OMDIs 28u= 22,720
—SduU=s 21,220
18122l 111,000 x202 2,220
293y 180,000& *100 18,000
39h4 250,000& 4% 1,000
—XNgw=s 30,0003 x50 1,500
ONMZ 2014 BUS 9I8t DT L SH4EA
30,000 *30H «5H Tt Ml #2323 9,000
OMOIEXNEXtU2 &4 10,000& =1,000H 10,000
ORVSSHH B2 =03 &4
30, 000& »40H »3CH Xl 3,600
OMOISXEX 80IS THEthsl Ag
10,0002 5002 5,000
307 GI12t0l A 178,800 192,800 A 14,000
02 ItAASE X 15,000 30,000 A 15,000
O XIIIoHA XIRAMMEH XI& 15,000,000& 15,000
03 AtslEMEX= 163,800 157,800 6,000
OSMEHM &4t X& 157,800, 000& 157,800
OSMBS(SH, HY)X 6,000,000%! 6,000
SAN SH(MIISXI/AIE S XL 121,707 115,378 6,329
= 23,800
= 21,142
= 76,765
A 245 121,707 15,378 6,329
2 23,800
= 21,142
2 76,765
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S EOIMETIR D
Ha: GRZA SH(ABI=X/AESNLE
Sl TREA B (=CR-E
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl Ak 04 il b o HRs2
RZA DOUOIE XIS AY 43,473 39,928 3,545
2 7,008
= 8,504
2 7,961
101 Q124H| 43,473 39,928 3,545
2 17,008
= 8,504
2 17,961
04 JAR2RISES 43,473 39,928 3,545
SELIIEINE 34,016
— K= AL BOUOIE XA
34,016,000 34,016
2 17,008
= 8,504
2 8,504
O A ROUOIE X3 X
9,457,0002 9,457
NAZAT 282 ML 13,584 10,000 3,584
= 6,792
= 2,08
2 4,754
307 2120/ & 13,564 10,000 3,584
2 6,792
= 2,08
2 4,754
06 282 13,564 10,000 3,584
SELIIEINE 13,564
—XFEE AR AR E Ot 13,584,0002 13,564
2 6,792
= 2,088
2 4,754
REASA KR L HE 2% 43,450 43,450 0
201 Yoty 10,650 10,650 0
01 At 0,650 10,650 0
oggt=gY| 8, 150, 0002 8, 150
o284y 500, 0002 500
o3| 400,0002 400
oYxtz 1,600,0002 1,600
206 M2 Hl 1,200 1,200 0
NIEED 1,200 1,200 0
OmelLey H272Y 10,0002 122 1,200
301 YBrEAS 22,600 22,600 0
10 BAHAHI B A S 20,600 20,600 0
ORE 0IBHHIA AN THE AH2A
10,0002 *5% x43| * 122 2,400




SN FOIMEX D
M GAZA S (ABI=/AIBI =X LY
Sl MHREZA 2438 (e @
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
ONEA 83 B &4
10,0002 %2024 x33] 600
OF RESAX 3l &4 30,0002 *40% 1,200
OF ©9 RAZAN IS &4
30,0008 %2084 x23| 1,200
OERLQ SSZA 12,0008 %502 1702 10,200
ORSAZAK BHOISTHE B4 243
10,0002 *500% 5,000
12 JIEIE A3 2,000 2,000 0
ONESAZE SAX XIRH 2,000,0008 2,000
307 212+0IH 9,000 9,000 0
VIR EES 4,000 4,000 0
OgaSets A 4,000,0002 4,000
03 AEISHHIZE2 5,000 5,000 0
OREZACHH X2 5,000, 0002 5,000
A=A 25 X 21,200 22,000 A800
= 10,600
2 10,600
301 LBBAI 1,200 2,000 A800
= 600
2 600
10 SAFAHI A 1,200 2,000 800
OZHIBEAIY 1,200
~XEZAX o 1,200,0002 1,200
= 600
2 600
307 2I2+0IH 20,000 20,000 0
= 10,000
2 10,000
NEEEES 20,000 0 20,000
OZHIBEANY 20,000
— T E A HASH(SAME) X
20,000,0002 20,000
= 10,000
2 10,000
2| ZMEBST(ABIZX /I ZMBDE) 7,161,737 7,757,723 ~595,986
=2 5,612,502
= 705,429
2 843,716
2VOIZMHST LA G 135,360 146,760 A11,400
= 18,400
2 116,960
IIEMELTR MEX 2 38,360 51,860 £13,500
201 Ygreg| 5,380 14,740 A9,360




S OIS D
Hu: eI ZMEEF(AESN/IIZMELE)
CHol: BOIDIZMEBRY LHA G (Etel & e
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
01 At el 5,380 14,740 19,360
Oger+g| 1,100,0002 1,100
osg+y 1,680,000% 1,680
ozl 2,600,000% 2,600
202 01t 6,480 15,120 18,640
01 2U0tH| 6,480 15,120 18,640
O ZMERHRE YRFN 6,480,000 6,480
203 YR FAY| 1,500 3,000 A 1,500
03 AlZ{ZTQ@ETH| 1,500 3,000 A 1,500
OMASS 22 g2z 1,500,0002 1,500
301 LetEaa 25,000 19,000 6,000
01 AtSI2H =262 25,000 19,000 6,000
OJZMESZX R 230 Y| 25,000
—-x25, 534 150,000% %1002 15,000
— DDy 200,000 %50 10,000
JIZMELBI ML HA A 49,000 48,900 100
= 4,000
= 45,000
201 Yer2oy| 24,000 23,900 100
= 4,000
= 20,000
01 At el 24,000 23,900 100
OTHIEF A 4,000
“IIEMESST HINE B
4,000,0008! 4,000
= 4,000
OJZMELST MIIAE B (XHH)
20,000, 00084 20,000
206 T2l 25,000 25,000 0
01 MEH 25,000 25,000 0
OJIZMESZX ®IILH W27
25,000, 00084 25,000
I EMELB FHEZN LA 48,000 46,000 2,000
= 14,400
= 33,600
402 IR 0IH 48,000 46,000 2,000
= 14,400
= 33,600
01 SIAREEBE 48,000 46,000 2,000
OGHIEF A 48,000
—JIZMBLTR FHEZ JHLAL (24K TH)
48,000,000 48,000
= 14,400
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SN FolMER 2D
Ha: FINZUSEBF(ASSK/IIZHERE)
Selr 2| ZHSIT HAS (e &
_ - P e
SN -3 S2ARAH) - MFAY - BES Ol &t oH 0] Ak o Hlns2
| | = 33,600
FU MM X 7,026,377 7,610,963 /584,586
2 5,612,592
= 687,029
2 726,756
nES0 X 144,950 164,078 ~19,128
2 115,960
= 14,495
2 14,495
301 Lere Al 144,950 164,078 ~19,128
= 115,960
= 14,495
2 14,495
01 AISIBE X613 144,950 164,078 ~19,128
O EZAIY 144,950
—JIEZMESST SIS0 144,950,000 144,950
=2 115,960
= 14,495
2 14,495
NEZSXSESMEIA 222 X2 71,438 48,600 22,838
2 35,719
2 35,719
101 Q121H] 71,438 48,600 22,838
2 35,719
2 35,719
04 JIZMI22SES 71,438 48,600 22,838
O EZ ALY 71,438
—ANSEXSEAME A B2 28
71,438,000 71,438
2 35,719
2 35,719
AHHSO NS (L2 5,205,308 5,821,575 616,267
2 4,164,246
= 520,531
2 520,531
301 LB A3 5,205,308 5,821,575 616,267
2 4,164,246
= 520,531
2 520,531
01 A2 E X263 5,205,308 5,821,575 616,267
O3HIE X ALY 5,205,308
—JIEZMESST L MHSO
5.,205,308,0002 5,205,308
2 4,164,246
= 520,531
2 520,531
FA20 A 1,453,669 1,442,037 11,6832
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SA: =0l

Hm: 20|
=0o|
T -

el

SE(MISX /I =HEEE)

SNBSS - MEAY - BES 0l &k 24

=1

R

121
==
El
i
oy

1,162,935
145,367
145,367

MW

301 YErE AR 1,317,669 1,322,037 A4,368
1,054,135
131,767
131,767

MM

01 A2 X463 1,317,669 1,322,037 A4,368
sl 2 1,317,669
—JI=ME=ga T A=W 1,317,669,000& 1,317,669

1,054,135
131,767
131,767

W

307 2I2tol & 136,000 0 136,000
108,800
13,600
13,600

W

05 @izt 136,000 0 136,000

2 136,000
IZMeZ X FHESSWH(ELlAY)
136,000,000 136,000

108,800
13,600
13,600

W

ARHE L= XA 22,597 41,312 A18,715
18,078
2,260
2,259

W

301 et ez 22,597 41,312 A18,715
18,078
2,260
2,259

MW

+=ol= 22,597 41,312 A18,715
At 22,597
HE 2=&0 XA 22,597,000& 22,597
18,078

2,260
2,259

M

HAEHM=H X2 43,763 53,761 A9,998
35,011
4,376
4,376

H W

301 Let2a= 43,763 53,761 A9,998
35,011
4,376
4,376

W

01 A2 A +06l= 43,763 53,761 A9,998
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SN
X XH .
S Tt

el

=

o

B
bl

09 {0

(At&IZX1/01=

3 4y
B b 9
0

JnJn oz
Ol Ol g
= 0z
L
or re
Je o

cT—
=

!
x
0

L

. SR (2AH) - MRAY

HAS

2
R
J2H

EURGH

4,125
4,125

MW

36,699
29,359
3,670
3,670

31,210

5,489

MW

36,699
29,359
3,670
3,670

31,210

5,489

36,699,000

M

36,699
36,699

36,699

29,359
3,670
3,670

31,210

5,489

INE=ONI=|

H W

1,481,363
1,164,693
158,335
158,335

1,431,692

49,671

101 1A H]

W

308,000
246,400
30,800
30,800

326,100

A 18,100

04

S
v
=

i
i
1

W M H
>
e on

O
H

[ELOI_

HU
=
e

EINED

308,000,000

H W

308,000
308,000

308,000

246,400
30,800
30,800

326,100

A 18,100

201 et

MW

20,000
16,000
2,000
2,000

20,000

01 At

20,000,000&

H

20,000
20,000

20,000

16,000
2,000
2,000

20,000

307 2120l A

M

1,153,363
902,293
125,535
125,535

167,884

985,479

05 gzt

949,383,000&

949,383
949,383
949,383

949,383
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20 2 A

=

o

B
2

N

B b 9

Jn i oz

Ol Ol i
0z

>~

orre

flge pfor
80

=

2 (ABI=SXI/II=
BH &

oF

il

x
2
bal
e

- SR () - MRA

L HSS

2
R
J2H

203,980,000&

Mo

Mo

759,507
94,938
94,938

203,980
203,980
203,980

142,786
30,597
30,597

203,980

U

109,200

54,600
54,600

65,520

43,680

101 el 24l

EURCH

109,200

54,600
54,600

65,520

43,680

04 JI2tHZ=2 Xt

OEHIEX=AY

EPSEN BN ES]

= A
iy o

AAHE SEX

AH

109,200,000

M H1

109,200
109,200

109,200

54,600
54,600

65,520

43,680

Mok

18,200

9,100
9,100

13,000

5,200

307 2120l &

Mk

18,200

9,100
9,100

13,000

5,200

O

BH SALA X2 (1)

18,200,000&

U

18,200
18,200

18,200

9,100
9,100

18,200

Mo H

88,269
70,615
8,827
8,827

22,886

65,383

Mo

88,269
70,615
8,827
8,827

22,886

65,383

88,269,000&

HH

88,269
88,269

88,269

70,615
8,827
8,827

22,886

65,383
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SN EOIME A D
HE: HASS MBON NA(MISX/IIZMBRE)
Sl HASS NHESY Y (ol &2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 O] Ak 4 Sl ko HRE2
SYINSSH WA 25,200 0 25,200
= 12,600
= 12,600
301 LptEasg 25,200 0 25,200
& 12,600
i 12,600
01 A2IEEE 063 25,200 0 25,200
OZHIEZ A 25,200
—3AI=SSE &= 25,200,000& 25,200
& 12,600
i 12,600
NASEE =X NE 504,620 355,279 149,341
= 62,600
& 58,908
= 383,112
==X 78,250 70,699 7,551
= 62,600
= 7,825
i 7,825
301 Lpt8asg 78,250 70,699 7,551
= 62,600
= 7,825
= 7,825
01 ARI2EE 2563 78,250 70,699 7,551
OIHIEZAtY 78,250
—21==X XA 78,250,000& 78,250
= 62,600
& 7,825
2 7,825
MIANES Hd2=22 X3 62,760 63,760 21,000
202 14| 2,160 2,160 0
01 =LA b 2,160 2,160 0
ONA2MUL ?IE R 2,160,000& 2,160
301 Et2A = 60,600 61,600 A 1,000
01 ABIBHELHI 60,000 60,000 0
o0l 2U UL AB=TAL 2
25,0003 *1,200MI CH*23] 60,000
12 JIEtE A3 600 1,600 A1,000
SO FE MHI24 20,000& *30H 600
HASIHE K& 210,000 180,000 30,000
301 LptEag 210,000 180,000 30,000
01 A2IEEE+06l= 210,000 180,000 30,000
OXaAAHES AZEEE N 60,000,000& 60,000
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FH: F=QIMETA 0
Nu: HASE MBON NE(ANSEX/IENERE)
el HASE =X X (cHol a2
SN HB SR (BIH) - A - B S 0l &b S D=2
- T - = S = &= 0:”/&,% WS
OAM A=tk 218+=Hl XI&
80,000,000& 80,000
OXAHE EZHS N 70,000,000& 70,000
MASE W= N 25,000 22,500 2,500
L= 12,500
i 12,500
301 EtBA = 25,000 22,500 2,500
& 12,500
= 12,500
01 AlSIEEE=5l3 25,000 22,500 2,500
OZHIExZ A 25,000
~HASE MM D= XY
25,000,000& 25,000
= 12,500
= 12,500
MASE NH HEAY 20,610 18,320 2,290
& 6,183
= 14,427
301 et2& = 20,610 18,320 2,290
& 6,183
= 14,427
01 A2IEFH 0= 20,610 18,320 2,290
OSHIEZ ALY 20,610
—MASE NIH HESIAS(9Y)
20,610,000& 20,610
L= 6,183
i 14,427
HAsSE N4 &2 =23 XN 108,000 0 108,000
= 32,400
= 75,600
301 EtEA = 108,000 0 108,000
= 32,400
= 75,600
01 AISIEE A =0l= 108,000 0 108,000
OSHIEZ ALY 108,000
—HASE AMH Sa=2d NJAY
108,000, 000& 108,000
& 32,400
i 75,600
LOISX B (AMESK/ 0l - HAH) 26,013,184 27,354,484 21,341,300
= 14,901,342
&2 421,197
= 2,938,224
= 7,752,421
TEHLEMRRURA 2Y 1,318,319 1,203,884 114,435
= 62,400
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SN FEOIMEX D
M Lol=X EM(ABI=K/ 0 - HAd)
Ol RYLANSQUR 29 (el & 2
SN EB -GS - MBAY - BES 0 & 24 e HRE2
= 158,477
2 1,097,442
CUSTAL N (ZHRYR) 1,184,649 1,046,268 138,361
= 148,457
2 1,036, 192
101 o248l 1,062,973 893,335 169,638
= 57,200
2 1,005,773
VIBEBTEES =P 1,062,973 893,335 69,638
OZHI B E AL 114,400
—LOISTAIE AR &G 114,400
OB EsY 200, 00021 #44% *122 105,600
= 52,800
2 52,800
=PPo 100,000 #4484 23] 8,800
= 4,400
2 4,400
O30 440,148
— AFEI = XA 1,080,002 1 128 12,960
— 22X 2 A 964, 00021 *124 *122 11,568
— YA 964,000% 12+ 128 11,568
— 25 A 1,080, 0002 *38] 122 38,880
—QUBEA 294,672
— M8 781,0002 » 12« 128 9,372
~xelg 781,00021 *3% * 122 28,116
—2elel 839,000% 12« 128 10,068
— St 1,912,000 12+ 122 22,944
Oz ag 417,204,0002 / 12+2 69,534
OF-ERN 417,204, 00021 / 12+0.7+2 48,674
OFIIDHLL(5014) 50,0002 8128 4,800
O A X2t 417,204,000 / 12%2 69,534
ONHBELY 50,0002 *402 « 122 24,000
Os4224+Y 24,480
— AFSIZ XA} 40,0002 %1% * 128 480
— YA 40,0002 1 122 480
— 245 Al 40,0002 +3 122 1,440
—QUBEA 60, 0002 %282 *122 20, 160
—l M8l 40,0009 %124 * 128 480
—x2lg 40,0002 x3 « 128 1,440
Ons34 10,0002 x40% 122 52,800
OYEEIH| 417,204, 00021 / 12+0. 5+2 34,767
oeFIRAY 28,023
— AFEI = I AL
1,170,0002! /209%1 .5+ 10AI 2H+12 ¥ 122 1,008
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S FOIMERIR D
A Lol=N| EX(AB=X/ L0l HAE)
Sl PYLONSQUN 29 (e @8
_ _ _ Muo
SA-BH.C(BH) - HRAY - B Ofl & o il i~ o Rz
—=ClXIZ A
1,054,0008! /209%1 . 5+5 Al 2t* 12 » 122 454
— YA
1,054,000 /209%1 . 5+2A| 2t 12 x 122 182
—2ABA
1,170,000 /209%1 . 5+5 Al 2t x3 » 122 1,512
—QUBEA
987,000 /209%1 . 5+6 Al 2428 +122 14,281
— 9|2l
871,000 /209%1. 5+ 16l 2412 +122 1,201
—2H2/9  889,000% /209+1 55541 2h+12i 12 383
—ZXcl&
871,000 /209+1.5+40A| 2+3% +122 9,002
OJ=4g 8,000
— X 30,0008 %2024 ¥ 122 7,200
~JIE 20,0002 %458 128 10,800
odEER 918,760,002 %9.34/100 85,813
Oslxz 48,000,00024 48,000
201 Yereg| 121,676 112,953 8,723
= 91,257
2 30,419
01 AtR2elt] 48,670 68, 106 ~19,436
OZHI B EAIY 48,670
—PULHR QYUY 29UI(SSAX)
48,670,00024 48,670
= 36,503
2 12,167
02 ZTZ2YH| 73,006 41,607 31,399
OZHIBEAIY 73,006
—PULOHE QYN US(SSAN)
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